MAT11001910.notebook

Randn ows »»«LWTM
Sladofvelin s = [} 0

R R I (v
_ — V\’J“"‘\‘ am S:&&\)M&

Bl . X:W X
\\;\ksﬁz | NV RS WO N

October 19, 2011



MAT11001910.notebook October 19, 2011

(43) 5»“)»#\” (,\)u?‘ oulvw 'BlOw\Q* &‘L«\aﬂl

(@) Dldeqpapeths.
Dluis wmkegresiom
B(WN«-&JG\%L QMM-J\ SUV &){ = U\de
Wb o Jomnd o Rroulebvagh
\

(U\f)\ =0T s uy

B T
J’(W :ngff%{ :gu‘vQ:(«\g‘\w‘ﬂ%

Wy & € S
\

W ly - _ (e
u\;‘a‘b( = U\Y*E—S\A\\'gx —{A_\/f S_\wﬁsl

u:x \P:MMX

EL}WL‘)L X‘}"w . u=1 V=- wax

= -XCax—S1 (:@95' = - K(DX +§w>r«9><

\/\/\'/
Y, woov — _ % Cx ¥ MR F

UMMAM &i}_&i&(z \U\:)\ \\I':.o.x}

= Xzzi Six:f& U=2% (V=L
o2 L gest

= x.o. -—&2%—2 = SQ"J&>

K IS b
- x_( ..Qx.o. '\‘QX& N = )&4—27&&4 Q-v. *¥ C




MAT11001910.notebook October 19, 2011

qu\w\owv’ D owmn M)«\r w uwu'v.ﬁ Qm‘mlaa‘?aq n,\“_g&ﬂ o
Wa Dz M&W
b = A % ‘vf(>(\=‘4§:
4
W= O.Arclow-%, u (%)= AarE

——

u K= owomnx) ul= 1=

EQM»M Xxh\x& .

u

1t 1\ 3 A »
= 71—}"“)‘ -S Tk T g j -;&* be = q "?[’J]‘*C




MAT11001910.notebook October 19, 2011

X
U\ b= 4-1-&"‘ \ =5~
[ N~
2 A~
= XT Jam)( - "—Z’TRX MWV‘M
A+ & Km
)\1 \ 44-x 14)3
= — owdomX
?
22 S ,mg\& X - cho«x*c
_ X




MAT11001910.notebook October 19, 2011

A U o Mlis xIeqrapge’ Tl X wlboppudld (ol
3 e j)\&fxﬂx U= DX = X

O @x y ¥ == X

2
= — DRcaX + Su:ox &
?
- - D.T )\C‘O)\ > (A’WX\&X
-1
= = PR X + X = SJ\«M?&&(

&3’ wc- MY (@% A% -w
0] il = - iaxcane®

®
S M xd = - 5 Narad- 5+ &

}Lxmom&dw%;_ £ x

Qui & vagpe + XK SR el e
3« B x e W
S'K > J){ =hE- %S W v X
— t\l\ 1 =.

R’”’N" ")'1’5' ,\.3 g - 331-%4 S \
N S NS, SRR AL 1:3
< ¥a- e b - (oS ?X4-3x4+6x2‘~5,{‘+q
) ) —
AL




MAT11001910.notebook October 19, 2011

SM”P’M (a.2)

Mon ndth - \;\3 'R = (D)
S%kﬁ\ w&&-g \U\=QQ

\Aaa\ﬂ

H\ﬂm\g& Jon o o U Lt
plle = )
QJQ o\ U\=a\)(\ " p‘n\a”—\u 2 Lrudor wed 0$[x\1r0,
la  X=Mla) vew Lo WVMHDI. )(NA‘?\W Vol
')\ = A o Neb\o bty = Dewd
Ay % 9 6) Rl g
S%\n&w: [ QMg 1 g g

}\QM \Mm lMI\S :

) X%L‘A&&u’]u:%b‘\
Y owd
&‘&%\Y\\ &S/ = S‘Kkh\ﬂ(h\h\“‘a[ﬂ
0g o v Dun ol ke Xty .

7 prodnts U= g+
fronns S %k‘d(x\ux )\\E)Hu\

= Y AT i \w-a\,\ %‘33 ENOE WS NAN

Bnamgds 1- (2 & U2l xen duedud
?—"&-:Q“ T doe = SQ\U.“QM U=2u Vs 2

=QU\LU\"’&D_£\4 IR

= Quel~ Qata -
i QV;).‘E— QJ_\E—!—C




MAT11001910.notebook October 19, 2011

= cmum}nu-\'ghimtu L»

T (puUMN S g('\- cAn)dun = CUB"*WU\“’V"—S«:&WQM
\——'—\f—\)

Oupa:

7 A ~
Scmh =5 (eouwwa_xi—*c

X D Mo
Tileks .

- . 19 L‘S\C(}b\b = Neovwnmuu+ 2u+C W= W\w\},\g
= g\\l/‘."f\'\t\l\a Naatn + Qu €
“Q-E 3 T Aewide



	Side 1: okt 19-10:10
	Side 2: okt 19-10:34
	Side 3: okt 19-10:51
	Side 4: okt 19-10:57
	Side 5: okt 19-11:06
	Side 6: okt 19-11:36
	Side 7: okt 19-11:53

